b ll‘-.\

1. Pick the odd man out.

(A) Snake (B) Lizard
(C) Crocodile (D) Whale {4
(E) Not attempted BEG

2. Where was the 26" All India Forest
Sports Meet held in Haryana?

(A) Rewari (B) Panchkula
(C) Sirsa (D) Palwal
(E) Not attempted

3. What s the rank of Chief of the Naval
Staff ?

(A) Vice Admiral

(B) Admiral

(C) General

(D) None of the above
(E) Not attempted

4. Merino sheep is originated from
(A) Spain (B) India
(C) Pakistan (D) Bangladesh
(E) Not attempted

5. The value of 9°+(9)9 is
(A) 9 (B) 99
(C) 11 (D) 10
(E) Not attempted

6. Where is North India’s first nuclear power
plant set up in Haryana ?

(A) Palwal

(B) Kaithal

(C) Gorakhpur
(D) Pinjore

(E) Not attempted

;
=
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Haryana Police Constable Question Paper 25 Aug 2024

1. g A= gfo |
(A) |7 (B) It
©) wm=s (D) =
(E) arrnfid

2. ahmm i 264 ifaw Wra I T
st et s A T ?

(A) e LAB) TR
() Tz (D) S
(E) Tyt
3. MTEFEFHERBEAL?
(A) a5 TSR
48) TEhira
(C) T %
(D) IwF & & IS
(E) TR
s MA TR FAER?
YA) T (B) ¥wd
(C) Witk (D) Siered
(E) TSR
5. 9°+(9)9°$T1=|1=r%
(A) 9 ' (B) 99
(€) 1 | _AD) 10
(E) 3t

6. TR ¥ IR VR T TgAT T FHtt
G4 el waTia fopar T R 7
DRGES .
(B) Y
1) rem

(D) oIk

(E) amrfia
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10.

1.

Incubation period of duck eggs in days is

(A) 21
(C) 30

(B) 28
(D) 18
(E) Not attempted

In a group of 5 boys, Vasant is taller than
Manohar but not as tall as Raju. Jayant is
taller than Dutta but shorter than Manohar.
Who is the shortest in group ?

(A) Raju (B) Dutta

(C) Vasant (D) Jayant
(E) Not attempted

LI
—=— then 24y =
24" y

y
(A) 16x (B) 24x
(C) 36x . (D) 30x

(E) Not attempted
‘_What is the main benefit of using functions
in programming ? '

(A) Reduces readability
(B) Increases code length ihot
(C) Increases code reusability ‘
(D) Reduces the need for debugging
(E) Not attempted

15 women or 10-men can complete a
project in 55 days. The number of days
5 women and 4 men take to comple;e the
same project is ‘
(A) 70
(C) 78

(B) 100 ;zﬂm

(D) 75 [=]r

%% (C) 30

(E) Not attempted

CcSM — 24

7. v i 1 e el e
A8 ?

A) 21
i )

(B) 28
(D) 18
(E) 3t

8. 58@5%Wﬁm’m.aﬁmz
I qﬁaﬂﬂmqﬁ% | W, &dl
g%@mamétwﬁm
B IR ?

(A) T, \B) &I
(C) J&d (D) S
(E) ITRITTHA
9. Af %=12—i‘."?ﬁ 24y =
(A) 16x (B) 24x
\4€) 36x (D) 30x
(E) Tt
10. Senfim & Hewed 1 ITE FH H GEH
A FTR ?
(A) TS A T AT -
(B) IS i TS el ®
ucfaﬁgﬁgq:mﬁm%
(D) fe=fim i srravaehar 7 o A &
(E) IS

1. T qRERE H 15 Afgemd A 10 [N
55 fet # 0 o Fha ® | e aieeEn =
U % & e 5 Afgenati 3R 4 7ot N

foren fem = iy 2

(A) 70 (B) 100
(C) 78 LB)y 75
(E) JT9antia :
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12.

13.

14.

15.

McMahon line is a borderline between
India and

(A) China

(B) Bangladesh

(C) Pakistan

(D) None of the above

(E) Not attempted

Which is the oldest canal of Haryana ?

(A) Gurgaon Canal

(B) Bhiwani Canal

(C) Bhakra Canal

(D) Western Yamuna Canal ‘\'?‘EI
GEiS

(E) Not attempted

Which soil is having pH less than 7.0 ?
(A) Acidic soil

(B) Alkaline soil

(C) Calcareous soil

(D) None of the above

(E) Not attempted

At which southern point of peninsular
plateau, Western Ghats and Eastern
Ghats meet ?

(A) Cardamom hills

(B) Nilgiri hills

(C) Mudumalai hills

(D) None of the above

(E) Not attempted

csm.— 24

12. Yy Y s sft s e o
@ g v
—TA)
(B) EiTerTe
(C) witream
(D) Twdem i & H§ T
(E) TSty

13.  gfemon 6 gad queft T BA-H R 7
(A) T TR
(B) Tt 7=
(C) wrEeT 98
4By gfeert 7T et
(E) Irsraféa

14. T it =1 diug (pH) 7.0 8 F9
qar g ?
Ly st fr
(B) &t fugr
:i';"ﬁilil (C) hehitd gt
EIE&E'} (D) 3ugad & & FIE T
(E) 3mafya

15. wETddr wen % fRw i fg W
it wre 3k g=ff e fiera € 7
(A) Freim 6 garfsat
Y Frefii A gerfeat
(C) FgHeTs < TaIsAl
(D) 9T & & I T
(E) Jrwartéd
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17.

18.

19.

20.

What does loT stand for ?
(A) Internet of Technology
(B) Internet of Things

(C) Internet of Tools

(D) Internet of Transfers

(E) Not attempted

What is a nested loop ?

(A) A loop inside another loop

(B) A loop that runs forever

(C) A loop with no body

(D) A loop with a single statement
(E) Not attempted ‘

Pick the odd man out.

(A) Mercury (B) Jupiter
(C) Venus (D) Moon
(E) Not attempted

Where is the Motilal Nehru Sports School
situated at Haryana ?

(A) Rai (Sonipat)

(B) Pataudi (Gurugram)

(C) Thaneshwar (Kurukshetra)

(D) Morni (Ambala)

(E) Not attempted

Which of the following city hosted the
Global Partnership on Artificial Intelligence
(GPAI) Summit 2024 ?

(A) New Delhi

(B) Surat

(C) Hyderabad

(D) None of the above

S

(E) Not attempted

cSM - 24

16. 10T 1 @™ F1 & 7

«(B) Tewie 3T i

‘lg!"‘%v(c) S IS T8

17. ﬁ@g%guw;? .
y LT
(B)@?an’rzﬂmiram@%
(c) ferm =TEt =T TF
(D) Tehet oA el T <0

(E)
18, g P AT |
(A) 99

(C) T
(E) TRfad

P 3 Adiee YeE TieE TR
Rre? .

uﬁftlé (Tria)
(B) TG (&™)
(C) UMTR (FT&H)
(D) WG (3FaTe)
(E) Twafad

20. frefuRen & @ fre wae X Fhm ghgmm
o AfFes wrderd (sh.dtu.ang.) Rt
e 2024 6 Al H 7
Ry T feecht
\AB) T
(C) T
(D) IuFd # | HIE T
(E) 3Tt

(B) Fewfd

(D) <IgHT

19.
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21.

22,

23.

24,

25.

The Red Data Book contains a record of
(A) Extinct species
(B) Endangered species

(C) Common species

e

(D) Invasive species
(E) Not attempted

How many National Parks are there in
India ?

(A) 1014

(B) 106

(C) 108

(D) None of the above
(E) Not attempted

An electric bulb is connected to a 220V
generator. The current is 0.50 A. What is
the power of the bulb ?

(A) 440W
€ 11w
(E) Not attempted

(B) 110w
(D) 44 W

Which of the following city in India was
officially recognized as a “World Craft City”
by the World Crafts Council (WCC) ?

(A) Jaipur (B) Pune

(C) Srinagar (D) Mumbai

(E) Not attempted

If the simple interest on a certain sum of
money for 2 years is one fifth of the sum,
then the rate of simple interest per annum
is

(A) 10%
(C) 7.2%

(E) Not attempted

(B) 12%
(D) 9%

CSM =24

21, g = 9% o fpwen! fhid &1 R 7
(A) forgea sremferat
AB) e srefaat
. (C) g wanfaat
~(D) 3ATSHTIH FATTerA
(E) 3ty

22, i ¥ fha Usdlg IWH B 7
(A) 1014
4B) 106
(C) 108

(D) 3w # & IS T
(E) JT5antea

23. U Frega o 1 T 220V F AT |
Srer T | foega e 0.50 AR | S

L huffm R ?
':%5]1 (A) 440 W LBy 110 W
E=E ) 11w (D) 44 W
(E) T5anfdra
24, WG & Frfafad ¥ & forg et =t e
fireq afteg (seg Ht.t.) gro amftreRTiteh

w9 ¥ “faga Reg 10” F F9 § wa
CURIER

(A) ST (B) T
LAC) HFR (D) 73
(E) v

25. g foreft Ffeaa iyt w2 98T <51 gramor
19 39 YR T giEat Wi R, d g
= i i o = @l ?

(Y 10% (B) 12%
(C) 7.2% (D) 9%
(E) rsafaa
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26.

27.

28.

29,

30.

India’s rank in global Human
Development Index 2022 is
(A) 134 (B) 130
(C) 132 (D) 133
(E) Not attempted

Who invented the concept of the stored
program computer ?

(A) Alan Turing

(B) Charles Babbage
(C) John Von Neumann
(D) Blaize F'al_scal

(E) Not attempted

In India, every year National Sports Day
is celebrated on

(A) 17 August

(B) 29 August

(C) 22 March

(D) None of the above
(E) Not attempted

How many districts were present at the
time of the formation of the Haryana
State in 1966 ?

(A) 6 (B) 9
(C) 8 (D) 7
(E) Not attempted

The volume of a cuboid of length 5 cm,
breadth 3 cm and height 4 cm is

(A) 60 cm®

(B) 12 cm®
(C) 45 cm® !3'35'
(D) 100 cm® D2y

(E) Not attempted

CSM -24

26. AfFaF T forehra g 2022 % WA

FEFFTR ?
LX) 134 (B) 130
(C) 132 - (D) 133
(E) v
27. TUE WU HEE Y @YU
aniferssr fepa fomam 7
<A T =R

EI%EE (B) @med Ser

et - .

S5 (c) & 9 =
(D) ST UTER
(E) amranféa

28, YRd ¥ yfa 9¥ g B foTw w9 g
TR ?
(A) 17 3&d

L_(B)29 31T
(C) 224

(D) 39w # & 15 &
(E) I

20. 1966 % RN UST F ToT F T FE
ISR i

(A) 6 (B) 9

(C) 8 Dy7
(E) rwamiya

30. T 5 Tf, e 3 TN I SeS 4 Anhy
AT AT T TG 18 7

~(A) 60 T
- (B) 128
(C) 453
(D) 100 T3
(E) 3trRnfira
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31.

32.

33.

34.

35.

What was the theme of International
Mountain Day 2023 observed on
11 December ?

(A) Restoring Mountain Ecosystems
(B) Mountain Biodiversity Restoration
(C) Mountains and Glaciers Restoration
(D) None of the above

(E) Not attempted

If 1 *2=22,2*3=36,3*4=412,then
4*5:

(A) 420
(C) 520
(E) Not attempted

(B) 45
(D) 54

What is the primary function of pepsin in
the digestion ?

(A) Break down of carbohydrates
(B) Emulsify fats

(C) Convert lipids into fatty acids
(D) Digest proteins

(E) Not attempted

In which district of Haryana is the Badkhal
Lake situated ?

(A) Hisar

(B) Jind .
2

(C) Sirsa Eﬁ

(D) Faridabad
(E) Not attempted

Rejupave Technology is related with

(A) Dam construction
(B) Road construction
(C) Urban forest creation
(D) None of the above
(E) Not attempted

CSM -24

31, 11 fegmr @) v T g gea fead

2023 <1 fogg <=1 91 ?

(A) T iifRafeeht o <t gaeeTed
(B) yedta Saffaaar & gararcit
oy e aft mifkrRt it gregred
%@ﬁ (D) SgFa & | IS T
= (E) 3wt
32, AR 1+#2=222+3=363+4=412,
4+5= 550
(A 420 (B) 45
(_(C) 520 (D) 54
(E) A5
33, e i AfRF 1 yrufes S w7
(A) FTETEESE i giRafdd T
ef =@ 1 TrEEE S
i) Tafts =1 & uftrs 3 aiafda e
(D) W& 1 9= FEAT
(E) Jrwntaa
34, hamm ¥ fea R § 9s@w 3w
e ?
(A) fean
(B) Sfig
(C) e
\AD) HiET]
(E) ST

35. T aeie foraw wafa @ ¢
—(Ay =a famioy
(B) T fmim
(C) et 3w Fmior
(D) IuEF | | IS T
(E) 3rsanRd
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36.

37.

38.

39-

~ (B) Japan

What is the purpose of the ‘break’
statement in Python ?

(A) To start a loop

(B) To pause a loop
(C) To terminate a loop
(D) To continue a loop
(E) Not attempted

Select the correct combination of numbers
so that letters arranged accordingly form a
meaningful word.

T E L &8 C A
1 2 3 4 5 6

(A) 1,2,3,4,5,6
(B) 4,6,5,1,2,3
(C) 5,64, 1,92
(D) 6,5,8,2,4,1
(E) Not attempted

Where was the Shanghai Co-operation
Organisation Summit 2024 organized ?

(A) Pakistan

(C) Singapore
(D) Kazakhstan
(E) Not attempted

The decomposition of vegetable matter

into compost is an example of __ 7

reaction.

(A) Calcination
(B) Exothermic
(C) Endothermic
(D) Buming
(E) Not attempted

CSM -24

ap. T § S T H YA T 7

. (A) T Y & HE
_(B) TH @ FHI UK

d HUTE hTET
%ﬂbﬁ,ud)@?wﬁ

(D) T I i I T
(E) I

a7. aii &1 g GAeH T i TEgER
e @ o AT g W EF |

T E L S C A
1 2 3 4 5 6

(A) 1,2,8,4,5,6
(B) 4,6,5,1,2,3
(4e] 5,6,4,1,32

(D) 6,5,3,2,4,1
(E) ST

38. TS T e AR G 2024 H
wal Tt femam T e ?
(A) IfRETH
(B) AT

(C) Femgx
LAY <hsTiehtT
(E) Tuantéa

39. oeafa Ul @G W HUEeT
FFTRAT &1 T ITE R |

(A) SeeeE
LAB) et

(C) eTamt
x (D) SieH

(E) 3maiaa
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41.

42.

43.

In which of the following year was the
UNESCO Creative Cities Network
(UCCN) established ?

(B) 2015

(D) 2004

(A) 1998
(C) 2010
(E) Not attempted

Value that appears most number of times
in the given data of an attribute/variable is
called

(A) Mode

(B) Median

(C) Mean

(D) None of the above

(E) Not attempted

Yamuna River enters Haryana from the
district of

(A) Ambala (B) Sirsa

(C) Yamunanagar (D) Bhiwani

(E) Not attempted

In Python, which symbol is used to start a
comment ? -

(A) I/ (8) \

(C) # (D) -

(E) Not attempted

Find the correct option for the missing
number (?) in the series.

11,9, 18, 15,45, 41, ?
(A) 164

(B) 162

(C) 158

(D) None of these

(E) Not attempted

CSM-24

40. TXEH! TATHR TR Feah (IHAE)

%t wre Pefifea § @ fra ad A
TS oft ?
(A) 1998 (B) 2015
LAC) 2010 (D) 2004
(E) 3T
41. Freht ooz /e i @ T s §
gad i IR wehfa 89 ot 7 @
FT gl Tl @ ?
LIA) TS
.= (B) T
SEom
(D) 35w § @ *IE W
(E) Jrvféa |
42, a7 ghcamn # fRe Rt @ w9
FER ?
(A) SETe (B) foan
LAC) TR (D) Tt
(E) AR

43. TEY § B TE O $ forg FRE T
w_atm’mﬁmm%?
(A) 1/ (B) \

LAC) # (D) -
(E) nmmad

44. sEen § g T (7) % o w@ faswew
T Hif |
11,9, 18, 15, 45, 41, ?
AA) 164
(B) 162
(C) 158
(D) ¥ A IS &I

(E) rsnd
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45. Which kind of output device converts

46.

47.

48.

49.

digital information into a physical
(hard copy) form ?

(A) Monitor
(C) Scanner
(E) Not attempted

(B) Printer
(D) Keyboard

Which is the smallest district of Haryana
in terms of area ?

(A) Hisar
(C) Panchkula
(E) Not attempted

(B) Bhiwani
(D) Ambala

When did the Federal Court of India start
functioning ?

(A) 01 October, 1937
(B) 01 October, 1945
(C) 02 October, 1930
(D) None of the above
(E) Not attempted

What is the total area of Haryana State at
present ?

(A) 42232 square kilometres
(B) 46217 square kilometres
(C) 44212 square kilometres
(D) 48219 square kilometres
(E) Not attempted

Which of the following crops are typically
sown during the rainy season ?

(A) Winter crops

(B) Kharif crops

(C) Spring crops

(D) None of the above
(E) Not attemp!ed

11

M%E (E) STwania

CSM -24

45. TG R F1 Ineeye fearsw feforea

STeRTd <t fRRmere (B w1 ) F &I H
uRafda =@ 2 ?
(A) AT By et
(C) T (D) g
(E) 3manféa
46. A% 1 3R A ghEmn w1 wEd B
Rem-a12 7
(A)%HR (B) firarft

(D) =T

47. TG % G =G Y HE 8§ BRI B
& fmar ?
LAY 01 3T, 1937
(B) 01 3T, 1945
(C) 02 3TsR, 1930
(D) S & & i Tl
(E) rrtaa

AaH # RGO T T Fel &Eh
R 8 7
(A) 42232 =it fereiriex
(B) 46217 & fehaiiiex
e 44212 =1 Tepaiiex
(D) 48219 Tt fehaimiex

(E) 3ated

49. Tr=fifaa & @ fre wa@ i IHAR W
a9l kg # 91T ITET 8 7
(A) uféat 6 wae
LABY % weet
OELLEIRTE]
(D) Ivdad § F 1S T
(E) 3wl

48.
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50. The zoo had some lions and some parrots.
The keeper counted 15 heads and 50 legs,
then the number of lions is

(A) 9

(B) 12 .
(©) 11 E@‘:‘%
(D) 10 &,

(E) Not attempted

51. Inwhich city of Haryana, Arjun Stadium

is situated ? _
(A) Kamal (B) Sonipat
(C) Jind (D) Hisar

(E) Not attempted

52. InIndia, every year National Girl Child
Day is celebrated on

(A) 24 January
(B) 16 January
(C) 14 January
(D) None of the above
(E) Not attempted
53. The sclentific name of National Flower of
India is

.. (A) Nelumbo Nucifera Gaertn
ng] (B) Jasminum
%% (C) Oryza sativa

(D) None of the above
(E) Not attempted

54. What is the ancient name of the
Markanda river of Haryana ?

(A) Aruna
(C) Manasa
(E) Not attempted

(B) Meeru
(D) Malaya'

-12-

CSM-—24

. fufem i g i ofv g7 A0 A | A
N ﬁ15fﬁtﬁn§{;oaiﬁﬁ,?ﬁ§fﬁzﬁ'm
feperft B 7
(A) 9
(B) 12
() 11

Loy 10
(E) rwafEa

51. =i % fFg et i an Rfeaw
fRmg ?

(A) HETA (B) Gi-aa
~(C) ffg (D) TR
(E) Twamida

52, WG § Wiy 9§ U anferent fegw &
AT ST 8 7
LAA) 24 Sl
(B) 16 S=alt
(C) 145Had
(D) S9Ed & & IS e
(E) 3rvaiaa

53. WRA % USIG Gl Hl Aq1ieh A0 1R ?
\A) It Zfasa me
(B) Sf@F=w
(C) SAfT Gifaar
(D) Swda & & S 7
(E) vantaa

54. BIEAN % qREHET 7€) HT =T T
TR ?

AR) s
(C) "M==
(E) v

(B) =
- (D) W
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55. How many villages are there in Haryana
according to Census 2011 ?

(A) 6754 (B) 6841
(C) 6657 (D) 6895
(E) Not attempted

56. lfa=-1andb =3, then the value of

(a +b)?is

(A) 4 (B) 16

(C) -4 (D) O @ﬁ@
(E) Not attempted El"'j"'?}"'

57. The Hailey (Corbett) National Park, India's
oldest National Park was established in
the year

(A) 1930
(B) 1932
(C) 1936
(D) 1939
(E) Not attempted

58. Giri and Tons are tributaries of which river
of Haryana State ?

(A) Tangri
(C) Yamuna
(E) Not attempted

(B) Krishnawati
(D) Markanda

59. In a certain code language, SIKKIM is
written as THLJJL. How is TRAINING
written in that code language ?

(A) SQBHOHOH
(B) UQBJOHOH
(C) UQBJOHHO
(D) UQBHOHOF
(E) Not attempted

13-

CSM - 24

55. 2011 % SFTUMAT 3 AT BT H A
TE @ 7
(A) 6754

(C) 6657
(E) 3Tsrmiéa

56. ﬂ'ﬁa=—13ﬁ1b=3%,?ﬁ(a+b)zm
M 2
L—(A) 4
(C) -4
(E) 3Tsnfia
57. WG @1 Tad qUAT TS &M, gell
(Fide) T Fae form ad | wfua
fepam T ot ?
(A) 1930
(B) 1932

|_(C) 1936

(D) 1939
(E) STt

L(BY 6841
(D) 6895

(B) 16
(D) O

58. Tl 3fR 2w afwmn =" &+ fora 7€ i
g Afeai & 7

(A) TR (B) FETE
(AC) TG (D) "SI
(E) ryaaa

59. U FfFa fe 9o # SIKKIM 3! THLJJL
fora simar 2 | SEt %e wmeT °§ TRAINING
I faEn 7
(A) SQBHOHOH

7 (B) UQBJOHOH

m“&,; (C) UQBJOHHO

) UQBHOHOF
(E) 3TsTRad
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60.

61.

62.

63.

64.

How many athletes from Haryana aré

participating in the Paris Olympics 2024 ?
(A) 19 (B) 24
(C) 16 (D) 29

(E) Not attempted

In a mixture containing milk and water,
the ratio of milk to water is 3: 1, then the
quantity of water in 10 litres of mixture is

A2 y
(A) 3litres (B) 2.5 litres s
(C) 1 litre (D) 1.5litres
o:
(E) Not attempted .%5@
B

If ¥42 _x_—l‘ then the value of x is

5 2
(A) 4 (B) 5
(€)1 (D) 3
(E) Not attempted

Headquarters of International Solar
Alliance (ISA) is located at

(A) Mumbai

(B) Gurugram

(C) New Delhi

(D) None of the above

(E) Not attempted

Where is Indian Institute of Horticultural
Research located ?

(A) New Delhi
(B) Bengaluru
(C) Lucknow

(D) Hyderabad
(E) Not attempted

CSM — 24

60. UfE ﬁﬁﬁ%zozﬁ#mwnﬁmﬁ

wRfle MA@ e 7

(A) 19 (B) 24
(C) 16 (D) 29
(E) JrTid

61. Qﬂaﬁtﬂﬁ%ﬁwﬁiﬁaﬁiﬁﬂ
WSH%,?ﬁiOFﬁZTﬁTWﬁQFﬁﬁ
e fRaet 2 7
(A) 3R L(B) 2.5

(C) 1fiex (D) 1.5 X
(E) 3T
g2, aR X*2_X-13 QxHAAE
5 2
(A) 4 (B) 5
(€ 1 (AD) 3
(E) TS

63. mﬂ@uﬁtmﬂ?wg@mﬁ
a2 ?
(A) T
\_{B) T
(C) 7% feeht
(D) I | & HI3 T
(E) 3Tsiéd

64, T ST STEYM HEAH HE
fer 2 7

-14-
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65. The HCF of 16 and 24 is E%E]
e
aia (B) 2 E5

(C) 8 (D) 16

66.

67.

68.

69.

70.

(E) Not attempted

Where is the Headquarters of
Mahendragarh district in Haryana ?

(A) Narnaul (B) Karnal
(C) Kaithal (D) Bhiwani
(E) Not attempted

If the average age of 3 girls in a family is
4 years, then the sum of their ages is

(A) 4 years (B) 12 years
(C) 9 years
(E) Not attempted

(D) 7 years

How many numbers between 9 to 54 are
exactly divisible by 9 but not by 3 ?

(A) None (B) 8
(C) 6 (D) 5
(E) Not attempted

Which of the following instrument is used
to measure wind velocity ?

(A) Barometer

(B) Hygrograph

(C) Pyradiometer

(D) Anemometer

(E) Not attempted

If 18" March was Wednesday, then which
day will falls on 1 March ?

(A) Tuesday (B) Friday

(C) Thursday (D) Sunday

(E) Not attempted

CSM — 24

65. 16 31N 24 % UETH THIEGH &

(A) 4 (B) 2
L(C) 8 (D) 16
(E) Tt
66. aramn # wagTe Fel 1 qEATer
Fal @ 7
(AT AT (B) HEATA
(C) Fua (D) et
(E) Twartd
67. af U wiEm ¥ 3 wighEal i Sl 3
49§ 2, A I 3G AR ?
(A) 4ad By 124
(C) 9 (D) 799
(E) 3rntaa

68. 93 54 % == Y frafl TEaTd 9 F UIC:
fawrg  Wg 39 &l ?

|LA) IS & (B) 8
(C) 6 (D) 5
(E)
9. Trefefiag § & fopa Iushtor &1 IwANT 91g
3w % foe R ST 2 2
(A) SUHR
(B) ETRUITS
(C) [rstfeamHi
(AD) THHH
(E) 3rvEtad
70. If% 18 T FI qUER &, 1 1 7= H
iH-a1 feq gm 2
E*?(A)mm (B) TR
EF (C) T (D) Teram
(E) 3rwnfea

-15-
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Th

72.

73.

74.

75.

One ampere is equal to

(A) One coulomb per second

(B) One volt per second

(C) One joule per coulomb

(D) One second per coulomb charge
(E) Not attempted

What was the theme of World Children’s
Day 2023 observed on November 20 ?

(A) Imagine a better future for every child

(B) Children of today, our keepers
tomorrow

(C) For every child, every right

(D) None of the above

(E) Not attempted

[E]%
==
G

Who is the father of Indian
Psychoanalysis ?

(A) Sudhir Kakar (B) Suman Ranganath
(C) Suhas Mishra (D) Shamanth Singh
(E) Not attempted

The current through a resistor is inversely
proportional to its
\ _/M') Potential difference
(B) Resistance
(C) Electrical charge
(D) Heat dissipation
(E) Not attempted

c?

In a certain code language, ‘134° means
‘good and tasty’, ‘478’ means ‘see good
pictures’ and ‘729' means ‘pictures are
faint'’. Which of the following digit stands
for 'see’ ?

(A) 9

(C) 1

(E) Not attempted

(B) 2
(D) 8

71.

72.

74.

[E%[E

-16-

75.

CSM - 24

wF T % & A |

(&) TF Feid Tfd 763

(B) U dlee Nfd HHs

»(C) T It fdl i

(D) W s T Ferd AT

(E) 3TsafEd

o0 e 1 5 7 P e R 2023
o1 fergg = 41 7

(A T ae % fore g wfeasd H He

B
(B) 3T % Fr=d, Fel h gAR L@

(C) & == & fou, & arferpn
(D) 3udwd | | W5 Tl

(E) 3TfEd

URAT HAIETAT 3 e hiT & ?
(A) GfR FFFS  YB) T T
(C) gara e (D) wa f&@
(E) IvaTtEa

T aes S g sEs
SIHATITT 2 |

(A) Tavarm

(B) wfetia

(C) fergga s

(D) ™1 &3

(E) 3TsrEmtEa

s Fifeaa wie 9 § 134’ 1 319 ‘good
and tasty’ &, _'g,?s"em Y ‘see good
pictures’ & : 729 &1 A ‘pictures
are faint’ g | Fr=ifaifaa § § sH-41 3%
‘see’ ! ST & ?

(A) 9 (B) 2
(C) 1 \_(D) 8
(E) TSt
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76.

78.

79.

80.

3 5 7
If ———=— then the value of x is
4 x X
(A) 16 (B) 12
(C) 14 (D) None of these

(E) Not attempted

Which letter will come in the place of
question mark ?

PRT V.2

(A) Q B) L

C) ™ (D) X

(E) Not attempted o
The value of 2° + 10%is (=15
(A) 1080 (B) 38

(C) 1008 (D) 1800

(E) Not attempted

Which of the following district is known as
Paris of Haryana State ?

(A) Karnal

(B) Panipat

(C) Gurgaon

(D) Rohtak

(E) Not attempted

Where was the world’s first portable
hospital unveiled ?

(A) Gurugram

(B) Ranchi

(C) Patna

(D) None of the above

(E) Not attempted

CSM - 24
76. N T%fhxaﬂnﬂa
4 X
_AA) 16 (B) 12
(C) 14 (D) 37 & I TH
(E) 3rrnfia
77. WA Fag & TH W HH-41 Hew AW 7
P,RT,V,?
(A) Q (B) L
(C) M ABY X
(E) Imvarfaa
78. 2°+10°H HA B
(A) 1080 (B) 38
_{ey 1008 (D) 1800
(E) TaTted
79. F=fafea 4 9 form @ =1 gfemon o=
o1 IR Far ST B 7
(_NA] ST
(B) 9T«
(C) TgTE
[E1%
s (©) T
(E) 3rvanféa
80. fIva & vgal didTa STdTet 1 IHE
gl foman w2
\ A T
(B) Tt
(C) g
(D) I ¥ ¥ =7 7
(E) 3mwanfaa

Download from www.MsEducationTv.com



CSM - 24

81. Inarow of trees, one treeis 7" from either | 81. ygl v ifda § v 13 9fm F ZE

end of the row. The number of trees in the BRA 74 wE T2 | fa § 93 A
row is e oot _6; 7
(A) 15 (B) 14 (A) 15 (B) 14
(C) 13 (D) 12 C) 13 (D) 12
(E) Not attempted (E) 3roanfara
82. Which of the following component is 82. SEeT Had 1 Fetferiad § | -

found in xylem tissue 7

U T A A 7
(A) Sieve tubes

AR) TRt (fi) Fferprd
(B) Phloem fibers (B) FEITH HIE
(C) Tracheids . (C) ¢fwrsa
(D) Companion cells E?:;E (D) @7 T
(E) Not attempted S (E) 3wt

83. Which of the following State of India has | 83. Fr=fefiaa o & form wiela T=a 1 389

awarded with the Geographical Indication TS ol & foru f@mfera e
(Gl) tag for its Lakadong turmeric ? (Sft.3ms.) & & et foRan T R 7
(A) Meghalaya (A) AT
(B) Sikkim (B) fafern
(C) Assam %%El €) 3|
(D) None of the above Elﬁg (D) 39 | & HIE &
(E) Not attempted (E) It
84. Which is the first novel written in Haryanvi | g4. sl wiwr # fer@n w1 Jee 3916
language ? PH-TATR 7

(A) Dard-e-Ashoob (B) Sandesa (A) G-T-IIE  (B) HeH

(C) A S LBY FEwd
(E) Not attempted (E) 3Tt

(C) Janan Janan (D) Jhadufiri

85. The number of revolutions a wheel of | 85. 28 & = aren s ufgan 880 Ffi i
28 cms diameter make in travelling a @ T F A PR TR S B ?

distance of 880 cms is (Tr = 2%) (ﬂ - 2%)

(A) 100 (8) 10 (A) 100 8 10
(C) 24 (D) 50 (C) 24 (D) 50
(E) Not attempted (E) iy

-18-
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86. fr=ferfiga gmeaar ot =if |

86. Complete the following analogy.

Moon : Satellite : : Earth : ?

g ;3R g 7

(A) Sun (A) 'gEj

(B) Planet _(B) TE

(C) Solar system (C) HT guTTeft

(D) None of the above (D) 3w # | HIs Tal
(E) Not attempted (E) 3Tsranfad

87. Where was the 14™ All India Police
Commando Competition organised ?

(A) Kerala
(B) Guijarat
(C) Madhya Pradesh

87. 144 i vma gferm Fwie ufeifire
et e & T 7
(A) T

EIZE ) e

(D) Andhra Pradesh (D) Y YT
(E) Not attempted (E) T
88. White Silver Chloride turns to in | 88. we freat Feigs gF F wHw
sunlight. ¥ gt ST 2 |
(A) Grey (A) HE (fr)
(B) Yellow (B) diem
(C) Red YC) e
(D) None of the above f':-f%a@'. (D) 39 | & g &
(E) Not attempted e (E) 3Toantaa

89. Whatis a file ?

89. WA FT2 ?

(A) A program stored in Random Access (A) tveq w=EE 3910 § uda T Ty
Memory e
(B) Atem ry st locati (B) T
porary storage location :
fadae wewor Hifsan w v Tfa
~(C) A named location on a secondary i w
storage media i

# (D) A type of Python variable
(E) Not attempted

(D) T YR 1 IRIYA IfCEe
(E) Tyt
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90.

91.

92.

93.

The Supreme Court of India comprises
the
(A) Chief Justice and 28 other Judges

(B) Chief Justice and 33 other Judges
(C) Chief Justice and 34 other Judges
(D) Chief Justice and 30 other Judges

(E) Not attempted

Which number will come in the place of
question mark ?

2,3,5711,13,2 11

(A) 17

(B) 18

(C) 13

(D) None of the above

(E) Not attempted

Which encoding scheme can represent
characters from almost all the languages
of the world ?

(A) American Standard Code for
Information Interchange (ASCII)

(B) Unicode

(C) Indian Script Code for Information
Interchange (ISCI!I)

(D) None of the above

(E) Not attempted

If in a certain code language, NIGHT is
written as REKDX, then how wil_l CRIME

be written in that language ?

(A) GNMII
(B) GNMIJ ::Efﬁ!
(C) SMNJI [ElrzE
(D) SMNJJ

CSM -24

90. W % HAtes =y i i &

(A) 7@ e 3 28 3721 AT
\_(By @ =rie 3 33 371 A
(C) WA =i 37N 34 =1 =TT
(D) W& =marefier 3 30 3= =TT
(E) Asmrfea
wyq frg 3 oA w SH-H gen st ?
2,3,5,7,11,13,?

(A 17
(B) 18

) 13
(D) I9g ® | IS T

(E) 3rErtad

P TehITET whi g H T
oft yraratt & et 1 gfafte =

gl B 7

(A) TR RUEE HIs HR FHRATH
HEE 3= (ASCII)
e 8y IfrrE

(C) 3feaw fEpwe +Is BN FFHRATA

3= (ISCIN)
(D) 39 o § 1§ T
(E) Twanfae

Ife T Fe 91 ¥ NIGHT 1 REKDX
foran wman 2, @ 3= 9w § CRIME =

+Y forr s 7

\_(AT GNMII
(B) GNMIJ
(C) SMNJI

(D) SMNJJ

91.

92.

93.

(E) Not attempted

(E) i

-20-
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Which is the first state of

od, India 1o ; '
VAT (Value Added Tay) »  © Mroduce | g4, e i Az (e Afa 1) ] el A1
(A) Uttar Pradesh TR T HH-H R 7
(B) Madhya Pradesp (A) IS
(¢) Haryana (B) W S
(D) Rajasthan AC) gremT
(E) Not attempted () IR
(E) 3Twanfad
g5, Which of the following institutj : !
aunched the Sampoomat; lﬁg’}’\‘iyh;s? 95. frefaflga o & form =wen 3 wrqUial
(A) Reserve Bank of India (RBI) g fEm I8 frma ?
() Fin‘a\nce Commission of India i ;E‘:('K) frord % 217 Sfeam (smah.ang.)
(C) ;?sd;qag)Space Research Organisation ;}Eﬁ (B) R e b
o T (c) 3feTn v T arifATESeE (FE)
(E) Not attempted (E; ST
(
96. 'Mera Bill Mera Adhikar’ Schem KIEAr
e of g . '
Haryana State is related with o S %H@W wﬁaﬁ ﬁ“%ﬁa e
?
(A) Consumer Protection Act g G aﬂﬁﬁm‘r
_ A
(B) Public expenditure L/(B} Hmﬁmmw
(C) Income tax i -
#(C) I L
(D) Goods and Services Tax (GST)
(E) Not attempted ng:; a;:ﬁ SR
97. Inindian Constitution, ‘Right to Education’ | 97. wrerr dfaym A B¢ % Henta
is enshrined under Article " - “RoreqT T ymiﬁﬁﬁ%a ; -
7
(A) 20 A g AP |
e[
(B) 51 A B ®) 51 A
C)21A LAC) 21 A
(D) None of the above (D) 3ugwa ¥ ¥ ¢ 7
(E) Not attempted (E) 3Tvafad
-21-

Download from www.MsEducationTv.com



VG
:

99.

100.

CSM -24

frefefiaa & & - adar | &

98. Which of the following is not administrative | 98.
division of Haryana State at present ? T 1 YEE s T A 7
(A) Ambala q'fé&,‘lil )
LM
(B) Sirsa wrE-B)
(C) Hisar (C) femm
(D) Rohtak (D) Tzd
(E) Not attempted (E) i
Which number will come in the place of | 99. wvq fiyg % TIH W HH-Hl T&
question mark ? amarft ?
/3\ Z\ fx A 8 /\ 4253 A
5 2 8 15 724 ¢ 40 5/\12 8 15 7 24 9 =
(A) 41 1A) 41
(B) 45 (B) 45
(C) 50 (C) 50
(D) 52 (D) 52
(E) Not attempted (E) 3vafaa
Metallic oxides are said to be 100. 9Ifcae JATFATSS H FHaT AT 2
(A) Neutral oxides (A) fAfera ariease
(B) Acidic oxides {B) =g TS
(C) Basic oxides jﬁ?ﬂ (C) &g TedTss
(D) None of the above [elrate (D) 39 H | HI3 &l
(E) Not attempted (E) 3rvanfyd
«29.
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